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QUESTION 1

Which is the correct sequence of possible solutions that a constrained plan might consider when attempting to resolve a
capacity or resource overload?

A. First alternate resources, then substitute components, then alternate work definitions and item structures, and finally,
alternate suppliers and source organizations.

B. First alternate suppliers, then alternate resources, then substitute components, then alternate work definitions and
item structures, and finally, alternate source organizations.

C. First subscribe components, then alternate resources, then alternate work definitions and item structures, and finally,
alternate suppliers and source organizations.

D. First alternate item structures, and work definitions, then substitute components, then alternate resources, and finally,
alternate suppliers and source organizations.

Correct Answer: A

QUESTION 2

Your customer has seasonal demand and wants to generate forecast for next six months. You ran a demand plan for
first time using six months of shipments history but the forecast accuracy was low.

Identify two statements that are true in this scenario. (Choose two.)
A. Running a demand plan with both shipments and booking forecast profile is required to forecast seasonal demand.
B. Running a demand plan with less than one year of history will impact seasonal analysis.

C. Running a demand plan with both shipments and seasonal shipments forecast profile is required to forecast seasonal
demand.

D. Running a demand plan with six months of booking history instead of six months of shipment history is required for
seasonal demand.

E. Running a demand plan with 18 to 36 months of shipments history is recommended.

Correct Answer: DE

QUESTION 3
You want to check how many items have excess inventory. Which three choices will get you there? (Choose three.)
A. Open Table, Graph, or Tile Set > Table: Item Exceptions Summary > Filter by Items with Excess Inventory

B. Manage Plans > Edit Plan Options > Select Supply tab > Navigate to Item area > Filter by Items with Excess
Inventory

C. Open Table, Graph, or Tile Set > Table: Exceptions > Expand Supply Planning Exceptions > Select Iltems with
Excess Inventory
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D. Open Table, Graph, or Tile Set > Table: Items with Exceptions > Filter by Items with Excess Inventory

E. Open Table, Graph, Tile Set > Table: Items > Select any Item > Drill to: Item Exceptions > Expand Supply Planning
Exceptions > Select Items with Excess Inventory > Refresh the search results

Correct Answer: BCE

QUESTION 4

Your client manufactures consumer electronics and has all facilities live on Oracle Cloud. Their latest product has a very
complicated manufacturing process and therefore can only be made at one facility (Organization ABC). However, it is
ordered all over the world.

How should the Sourcing Rule be set up to accomplish this?

A. A global sourcing rule for 50% make at ABC and 50% buy from ABC

B. A local sourcing rule for 100% make at ABC; a global sourcing rule for 100% transfer from ABC

C. Alocal sourcing rule for 100% make at ABC; a global sourcing rule for 100% buy from ABC

D. A local sourcing rule for 100% buy from ABC; a global sourcing rule for 100% transfer from ABC

E. A global sourcing rule for 100% make at ABC; a local sourcing rule for 100% transfer from ABC

Correct Answer: D

QUESTION 5
In which situation would Bills of Distribution be more effective than Sourcing Rules?
A. When Organization A, Organization B, and Organization C make their own products

B. When Organization A buys from a Supplier; Organization B transfers from Organization A, and Organization C
transfers from Organization B

C. When all organizations transfer 50% of the material from Organization B, and 50% from Organization C
D. When all organizations are buying from a single outside supplier
E. When Organization A, Organization B, and Organization C transfer from Organization C

Correct Answer: B
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